
 
28.26

718  

 
35.15
893  

 
5.83
148  

 
2.92
74  

 
18.70
475  

 
41.74
1060   

43.30
1100  

39.20
996

ROBOT MOUNTING
HEIGHT

FORK LIFT POCKETS
FOR LIFTING

 
46.86
1190  

1/2-14 NPSM  THRU ALL
FOR TOWER LIGHT

 
5.91
150  

 
3.97
101  

30°
ROBOT MOUNTING 

SURFACE

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
OVERALL DIMENSIONS

MASS:  430 kg P. 1 / 10 SCALE: 1:15

N/A

N/A
MATERIAL: 

     1.1

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



B

 210.00 

 180.00 

 170.00 

6X  8.50 THRU ALL
M10X1.5 - 6H THRU ALL

6X  8.50 THRU ALL
M10X1.5 - 6H THRU ALL

4X  6.80 THRU ALL
M8X1.25 - 6H THRU ALL

 2X 170.00 

4X  8.50 THRU ALL
M10X1.5 - 6H THRU ALL

 2X 170.00 

80
FOR UR CABLE PASS THROUGH

DETAIL B
SCALE 1 : 2

8mm DOWEL HOLES MARKED "A" FOR:
- UR20 & UR30 A- UR10E, CRX-10IA,CRX-10IA/L, & CRX-20IA/L

8mm DOWEL HOLES MARKED "B" FOR:
- UR20 & UR30

8mm DOWEL HOLES MARKED "D" FOR:
- UR15

6mm DOWEL HOLES MARKED "C" FOR:
- ABB GOFA10/12

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
ROBOT MOUNTING

MASS:  g P. 2 / 10 SCALE: 1:15

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



4X  19.05 0.750  THRU ALL
FOR FLOOR ANCHORS (NOT INCLUDED)

4X  10.20 THRU ALL
 M12X1.75 - 6H THRU ALL

FOR LEVELING SCREWS (INCLUDED)

 4X 650.00 

 2X 475.00 

 2X 555.00 

 40.00 

ROBOT
ARM

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
FLOOR ANCHORING

MASS:  g P. 3 / 10 SCALE: 1:20

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



PROVIDED DRILL JIG
ST-RB-051-0042
(INCLUDED)

USE 4X OUTSIDE HOLES
TO DRILL FLOOR ANCHORS
REMOVE JIG BEFORE INSTALLING BASE

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
FLOOR ANCHORING

MASS:  g P. 4 / 10 SCALE: 1:20

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



C

OPTIONAL FLOOR ANCHORING KIT
RS-MT-100-0002

DETAIL C
SCALE 1 : 3

FASTEN DRILL JIG TO 4X FLOOR PADS1.
DRILL AND ANCHOR FLOOR PADS AT DESIRED LOCATION2.
REMOVE DRILL JIG3.
ANCHOR REMAINING 4X ANCHOR LOCATIONS IF NEEDED4.

M8X1.25 X 18 SCREW
HW-FN-003-0018

DRILL JIG
ST-RB-051-0042

FLOOR PAD (NOT INCLUDED)
RS-MT-100-0002

USE M12 FROM  BASE 
TO ALIGN FLOOR PAD
TO DRILL JIG

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
OPTIONAL FLOOR ANCHORING

MASS:  g P. 5 / 10 SCALE: 1:20

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 189.8 

 212.0 

 212.0 

 212.0 

 84.36  30.00 

170
MAX PART 

HEIGHT

 612 

 662.00 

 750.90 

DRAWER OPENS
EQUAL AMOUNT ON
OTHER SIDE

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
DRAWER DIMENSION

MASS:  g P. 6 / 10 SCALE: 1:20

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 659.3 

 534 

 495.00 

 340.00 

 340.00 

 495.00 

 709.68 

 534 

M8 X 1.25 NUT

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
DRAWER DIMENSION 2

MASS:  g P. 7 / 10 SCALE: 1:20

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



DRAWER UNLOCKED POSITION

 14.4 

DRAWER LOCKED POSITION

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
DRAWER LOCKING MECHANISM

MASS:  g P. 8 / 10 SCALE: 1:10

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 3X 450.00 

 257 

 262 

 212 

AIR PREP MOUNTING
(AIR PREP NOT INCLUDED)

3X DIN RAIL MOUNTS
INCLUDED

73.18
DIN RAIL TO DOOR

CLEARANCE

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
DIN MOUNTING

MASS:  g P. 9 / 10 SCALE: 1:20

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



E

DETAIL E
SCALE 1 : 2

POWER TO ROBOT 
CONTROLLER

POWER FOR USER
ACCESSORIES

AREA SCANNER COMMUNICATION

EXTRA ETHERNET FOR USER
ACCESSORIES

2X M12 - 8 PIN CONNECTOR
FOR USER CONNECTION TO 
CNC

12 PIN SAFETY CONNECTOR
FOR E-STOP (INCLUDED WITH SAFETY KITS)

12 MM PNEUMATIC
PUSH TO CONNECT

UNLESS OTHERWISE SPECIFIED, •
DIMENSIONS ARE IN MILLIMETERS
INFORMATION IN THIS DRAWING •
IS PROVIDED FOR REFERENCE 
ONLY.

CAT:  THIRD ANGLE PROJECTION

MACHINE TENDING HARDWARE KIT
IO PANEL

MASS:  g P. 10 / 10 SCALE: 1:20

N/A

N/A
MATERIAL: 

TITLE:

SIZE:

B

REV:
RS-MT-000-0001

FINISH:

PART NUMBER:

A A

B B

C C

D D

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1


	overall dimensions
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View24

	robot mounting
	Drawing View12
	Detail View B (1 : 2)

	floor anchoring
	Drawing View14

	floor jig
	Drawing View18

	optional floor anchoring
	Drawing View19
	Detail View C (1 : 3)

	drawer dimension
	Drawing View23
	Drawing View25

	drawer dimension 2
	Drawing View29
	Drawing View31

	drawer locking mechanism
	Drawing View34
	Alternate Position1

	din mounting
	Drawing View35
	Drawing View36

	io panel
	Drawing View37
	Detail View E (1 : 2)


		2025-07-29T11:54:50-0400
	David MacHattie




